TOTAL NO. OF OBS. WIND/WAVE

i

120144 ANNUAL AREA 60

ALL WIND = 856506
NORTH WEST NORTH NORTH EAST
PERCENTAGE OF OBS = 11.72% PERCENTAGE OF OBS = 11.46% PERCENTAGE OF O0BS = 17.94%
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TABULATED PROBABILITIES ARE IN PARTS PER THOUSAND OF THE POPULATION IN EACH TABLE




AREA 60 MARCH TO APRIL

NORTH WEST NORTH NORTH EAST
PERCENTAGE OF OBS = 17.986% PERCENTAGE OF OBS = 16. 10% PERCENTAGE OF OBS = 21.75%
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MAY TO SEPTEMBER AREA 60

NORTH WEST NORTH NORTH EAST
PERCENTAGE OF OBS = 8.87% PERCENTAGE OF OBS = 1.82% PERCENTAGE OF OBS = 0.82%
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AREA 60 OCTOBER TO NOVEMBER

NORTH WEST NORTH NORTH EAST
PERCENTAGE OF OBS = 15.12% PERCENTAGE OF OBS = 11.786% PERCENTAGE OF OBS = 15.82%
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TABULATED PROBABILITIES ARE IN PARTS PER THOUSAND OF THE POPULATION IN EACH TABLE




DECEMBER TO FEBRUARY AREA 60
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TABULATED PROBABILITIES ARE IN PARTS PER THOUSAND OF THE POPULATION IN EACH TABLE




